flx) = -2x2+10
3. Use these two functions:
gw) =10-3w

a) Find f(-3)
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flx) = -2x2+10

gw) =10-3w
X
c) Find /(2 —@ —k C_&> +(O  Findf@
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Find g(3)
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flx) = -2x2+10

gw) =10-3w
b) Find wwhen g(w) = 22
AL =10 —3W
— (O -\l\<<
A= w
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flx) = -2x2+10
gw) =10-3w

. (Hr=ig=a11
d) Find 7g(1) 9 .
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Given the functions: g(x) =-10x- 1

and _k(r)=-2r> +5

1. Findk(1) 2. Find 10K(-1
= -2(-0)~ +5 Find k(-1) then
— —Z.C\) +g multlplyth\jby10
= 2 +S 0 (D3>0
K = 2

You can now finish Hwk #19

Sec 5-2

pages 244-245

problems 2, 4, 24, 28-30, 32, 38-41, 44

Due tomorrow

Given the functions: g(x) =-10x- 1

and k(r)=-2r> +5

Find 2g(1) + 3k(2)

2D )
5 gt =
— \_3 J

Functions in Algebra 1:

Linear Functions:
EQ: y=mx+b

Graph: Line

36\} =~ —0()) —
= ~lp-|

s L ?/)7’-}/5
KL -2/(6) 5

\gyb
=79

Absolute Value Functions:
EQ: y=a|x-h|+k

Graph: V-Shape

Quadratic Functions:
EQ: y=ax+bx+c
or
y=a(x-hy+k

Graph: Parabola




Graphing Linear Functions.

Graph y=2x-1

| One method: |
Set up a table.

Graph y=2x-1

graph using the "other"
method

Graphing Linear Functions. |Another method

Slope-Intercept Form:

Steps to graph this eq:

y=mx+Db

N

y-intercept

Graph this line with at least 3 points.

1. Plot the y-int.

2. Use the slope to find
more points.

OR

i Set up a Table
Jr= —4x + 5 NI\ and plot the points
3 \ that will fit on the
2 graph.
1. Start at 5 on the y-axis i X |y
2. From the y-intercept 55 \ D 3
do arise of -4 (down) St \ ® 2 ‘
and a run of 1 (right) - -1 |9
3. Repeat until you have - \ o 5
enough points to graph =+ I \
the line. 5 2% 2

these are the only
ones that fit on the
graph



Graph this line with at least 3 points.
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